Page 22

File Number: 2035688 October 14, 2003 Invoice No. 90588396

09/12/03 RGS	Prepare for and attend hearing on PBGC termination (5.5); telephone conference with C. Jones (.2); telephone conference with G. Schaaf regarding revisions to 1114 order (.2); telephone conference with J. O'Leary regarding hearing (.2)	6.10
09/12/03 RGS	Travel to Pittsburgh, PA from Lexington, KY (4.2 hours billed at 50%)	2.10
09/12/03 LJA	Telephone conversation with J. Tinkelman regarding bank's comments on draft of registration rights agreement	1.00
09/12/03 LJA	Revise agreement and forward to P. Hayden	1.80
09/12/03 DIS	Telephone conference with R. McDonald regarding union vote, pension termination and other matters	.20
09/12/03 GJS	Prepare for, attend and participate in pension termination hearing (4.5); return to Pittsburgh, PA (4.6 hours billed at 50%) (2.3)	6.80
09/12/03 VLC	Prepare for distress termination hearing per R. Crouch, including revising court order (2.1); attend hearing for distress termination (2.9); travel from Lexington, KY (5.0 hours billed at 50%) (2.5)	7.50
09/15/03 RWC	Review PBGC's comments to order (.2); assist with revisions and negotiations for language of order (.3)	.50
09/15/03 RGS	Review drafts of PBGC order and revise (.3); conference with G. Stubenhofer regarding changes (.3); letter to D. Wanlass and B. Dropkin (.4)	1.00
09/15/03 GJS	Negotiate terms of order regarding pension termination with PBGC (.4); revise order consistent with same (.3)	.70
09/15/03 K B	Verify citations submitted by PBGC in order to terminate pension plans	.40
09/15/03 VLC	Review, analyze and index documents from distress termination hearing per R. Crouch	5.10

Special Metals Corporation File Number: 2035688

<u>Invoice No. 90588396</u>

Page 23 October 14, 2003

09/16/03 RWC	Review objections to plan confirmation; participate in portion of conference call regarding same and discuss strategy for objections with D. Swan (.9); review signed orders regarding 1113, 1114 and pension termination (.2); discuss strategy regarding potential PBGC appeal (.4)	1.50
09/16/03 VLC	Conference with G. Stubenhofer regarding signed orders (.2); review docket regarding orders per G. Stubenhofer (.3); conference with G. Stubenhofer regarding exhibits (.3); review exhibits and other various documents per G. Stubenhofer (2.1)	2.90
09/17/03 RWC	Review and exchange e-mail related to information requested and to be provided to the PBGC, especially regarding foreign affiliates (.4); confer with R. Sable regarding same and discuss strategy (.3); review materials from hearing as well as statue and regulations related to qualification of control group for distress termination (1.0)	1.70
09/17/03 RGS	Letter to D. Wanlass with C. Jones e-mail regarding VEBA (.5); review memorandum from B. Dropkin and respond regarding SARI (.3); telephone conference with B. Dropkin regarding VEBA and related subjects (.2)	1.00
09/18/03 RWC	Confer with R. Sable regarding remedies versus PBGC (.2); review free cash flow analysis (.4); telephone conference with R. Dropkin (.3); exchange e-mail with client and R. Sable and confer with R. Sable regarding strategy (.4)	1.30
09/18/03 RGS	Conference with R. Crouch and K. Batik regarding PBGC research and alternatives (.3); telephone conference with R. Crouch regarding information to PBGC (.2)	.50
09/18/03 VLC	Conference with R. Crouch regarding court orders regarding 1113, 1114 and distress termination hearing (.2); conference with R. Crouch regarding exhibit binders (.1); docket review per R. Crouch (.4); conference with R. Crouch regarding hearing documentation (.2); review and analyze documents per R. Crouch regarding exhibits and hearing information and gather information requested by R. Crouch (7.4)	8.30

File Number: 2035688

Invoice No. 90588396

Page 24 October 14, 2003

09/19/03 RWC	Confer with K. Batik regarding PBGC issues and research (.2); prepare and participate in conference call with client on various issues including review and approval of financial information released to PBGC and other third parties (1.1); telephone conference with J. Gillespie (.2); review e-mail from J. Gillespie to PBGC and advise of needed corrections (.2)	1.70
09/19/03 RGS	Telephone conference with R. Crouch regarding research on PBGC's options (.2); review financial information (.2); telephone conference with R. Landy of PBGC regarding extension and claim calculation (.2)	.60
09/19/03 K B	Research review of PBGC's failure to make decision on distress termination	2.10
09/19/03 VLC	Conference with R. Crouch regarding preparation for confirmation hearing (.4); review and preparation of documents per R. Crouch regarding conference call and confirmation hearing (6.5)	6.90
09/22/03 RWC	Confer with R. Sable regarding plan confirmation issues (.1); review and organize materials from PBGC hearing for potential use in opposing PBGC's objections to plan confirmation or other adverse PBGC determinations or actions (.9)	1.00
09/22/03 DAA	Conference with R. Sable regarding pension issues	.20
09/22/03 DAA	Research Traveler's annuity	.20
09/22/03 K B	Research remedies for PBGC delay (2.9); draft memorandum regarding findings (1.6)	4.50
09/22/03 MJA	Locate latest USWA term sheet and forward to P. Hayden at R. Sable's request	.30
09/22/03 MJA	Search extranet for filing dates of 1114 and 1113 motions at D. Swan's request	.30
09/23/03 RWC	Review memorandum regarding available remedies versus PBGC	.40
09/23/03 DAA	Telephone conference with B. Howley regarding calculate pension obligations	.20

File Number: 2035688

Invoice No. 90588396

Page 25 October 14, 2003

09/23/03 DAA	Research law on calculation tools applicable to PBGC claim for unfunded pension liabilities (.7); draft memorandum regarding the same (.8)	1.50
09/23/03 DAA	Telephone conference with B. Howley regarding pension claim calculation	.30
09/23/03 DAA	Revise memorandum on PBGC calculation rate	.70
09/23/03 DAA	Review B. Howley's spreadsheets on unfunded pension liabilities	.30
09/23/03 DAA	E-mail and analyze the spreadsheet to D. Wanlass and J. O'Leary	.30
09/23/03 K B	Draft and finalize memorandum regarding PBGC reconsideration and judicial review	1.80
09/23/03 HRH	Obtain KERP and review files and database for G. John's employment terms	.50
09/24/03 RWC	Review declaratory judgment action filed by Century, together with objection to claim brief, Combustion Engineering Decision on same legal issue and insurance coverage matrix (.7); correspondence from client related to historical dispute with Century and evidencing proof of claim, second amended disclosure statement and other documents related to evaluation of declaratory judgement action (.9); confer with J. Ludwikowski regarding various insurance information and availability of policies (.4); confer with S. Edison and R. Sable regarding strategy two times (.8)	2.80
09/24/03 DIS	Review PBGC appeal to pension termination and distribute notice	.20
09/24/03 DIS	Conference call with D. Wanlass, J. O'Leary and R. Sable regarding PBGC issues	.50
09/25/03 RWC	Review information forwarded by company to salaried retirees	.20
09/26/03 RWC	Review B. Howley's revised calculations (.1); review e-mail and consult regarding PBGC appeal (.3)	.40
09/26/03 K B	Draft e-mail regarding cases that address aggregate V. plan by plan treatment	.70

Special Metals Corporation File Number: 2035688 Invoice No. 90588396

Page	26	
Octob	er 14	2003

09/29/03 RGS	Respond to L. Thompson, D. Wanlass and S. Siegel's e-mail regarding John KERP	.70
09/29/03 RGS	Telephone conference with J. Bailes and C. Jones regarding salaried retiree issues including VEBA, HCTC, etc. (.5); telephone conference with D. Wanlass regarding salaried retiree issues (.2); conference call with J. O'Leary and D. Wanlass regarding PBGC issues (.7)	1.40
09/29/03 RGS	Telephone conference with B. Rosenberg regarding claim appeals regarding PBGC	.20
09/29/03 RGS	Telephone conference with G. John (.3); telephone conference with D. Wanlass (.2); review KERP documents for timing issues (.4)	.90
09/30/03 RWC	Multiple conferences with G. Stubenhofer regarding strategy for PBGC appeal (.5); telephone call with D. Jury regarding strategy for appeal (.3); telephone calls with C. Jones (2x) and J. Bailes regarding strategy for appeal (.6); confer with R. Sable regarding status (.1); review rules and statutes regarding appeal (.4); review and revise notice of appeal (.2); review case annotation regarding standing for appeal, time for appeal and related issues (.5)	2.60
09/30/03 RGS	Three telephone conferences with G. John (.6); telephone conference with D. Wanlass (.3); telephone conference with B. Rosenberg; prepare response to B. Rosenberg (.8); telephone conference with J. O'Leary and D. Wanlass regarding PBGC, labor and related issues (.7)	2.40
09/30/03 DIS	Review various e-mail correspondence relating to Cigna and retiree issues	.20
09/30/03 GJS	Work on cross appeal and motion for expedited review in connection with court order regarding distress termination of pension plan	1.70
09/30/03 VLC	Conference with R. Crouch regarding filing of distress termination appeal (.2); conference with G. Stubenhofer regarding filing of distress termination appeal (.4); prepare for filing distress termination appeal (1.0)	1.60
09/30/03 HRH	Obtain KERP motion as per R. Sable's request	.10

File Number: 2035688

<u>Invoice No. 90588396</u> October 14, 2003

Timekeeper	Rate/HR	Hours	Fees
Robert G. Sable	\$410.00	84.0	\$34,440.00
Lucile J. Anutta	\$370.00	4.1	\$1,517.00
Ronald W. Crouch	\$300.00	99.5	\$29,850.00
Gerald J. Stubenhofer	\$240.00	88.1	\$21,144.00
David I. Swan	\$235.00	3.1	\$728.50
Daniel A. Austin	\$225.00	3.9	\$877.50
Kevin Batik	\$170.00	48.3	\$8,211.00
Martha Lynn Wigton	\$120.00	0.8	\$96.00
Heather Rajoppi Hickman	\$110.00	1.1	\$121.00
Thomas Matthew Collins	\$110.00	12.9	\$1,419.00
Vicki L. Curfman	\$110.00	127.1	\$13,981.00
Mary Jo Albright	\$105.00	7.1	\$745.50
TOTAL	FEES	480.0	\$113,130.50

TOTAL FOR MATTER 2035688-0009

\$113,130.50

Page 27

File Number: 2035688

Invoice No. 90598237

Page 10

November 17, 2003

Re: Employee Matters

Our File No. 2035688-0009

For Services Rendered Through Oct 31, 2003

10/01/03 RWC	Review request for information from PBGC and response (.1); discuss strategy for appeal and circulate notice of appeal internally (.3)	.40
10/01/03 RGS	Telephone conference with D. Wanlass and L. Thompson regarding KERP issues	.20
10/01/03 RGS	Telephone conference with R. Rosenberg regarding KERP and related issues, including consummation	.40
10/01/03 RGS	Telephone conference with L. Thompson (.2); telephone conference with R. Rosenberg (.2); draft G. John termination letter (.3)	.70
10/01/03 RGS	Telephone conference with R. Rosenberg (.2); telephone conference with L. Thompson (.1); telephone conference with D. Wanlass (.2); telephone conference with W. Schorling (.3); telephone conference with B. Dropkin (.2); review KERP documents again regarding G. John issues (.3)	1.30
10/01/03 DIS	Conference with R. Sable regarding PBGC issues	.20
10/01/03 GJS	Telephone conference with G. Schaaf regarding appeal; conference with R. Crouch regarding same	40
10/01/03 DAA	Respond to e-mail from W. Wendler	.20
10/01/03 DAA	Investigate claim by R. McDonald for \$50,000 unsecured	.50
10/01/03 DAA	Revise application for reimbursement of committee expenses of retiree and letter to K. Bryant	.50
10/01/03 VLC	Review, analyze and index documents regarding appeal from distress termination order per R. Crouch	6.00
10/01/03 HRH	Transmit KERP's motion and documentation regarding G. John severance to W. Schorling	.30

Invoice No. 90598237

November 17, 2003

10/02/03 RGS	Telephone conference with R. Rosenberg regarding KERP issues (.2); telephone conference with G. John regarding KERP (.2); telephone conference with W. Schorling regarding same (.2)	.60
10/02/03 RGS	Conference with R. Crouch (.3); telephone conference with G. Schaaf regarding expedited appeal on PBGC (.2); letter to W. Schorling with KERP information (.2)	.70
10/02/03 GJS	Legal research regarding expedited appeal; work on motion for expedited appeal	4.20
10/02/03 DAA	Respond to V. Curfman regarding request for HCTC information	.30
10/02/03 VLC	Update exhibits binders for distress termination hearing per R. Crouch (.8); conference with G. Stubenhofer regarding stipulation with PBGC and exhibits (.3); review of correspondence and appeals per G. Stubenhofer (.8)	1.90
10/03/03 RWC	Telephone conference with D. Jury (.2); telephone conference with 1114 counsel (.2); multiple conferences and telephone calls with G. Stubenhofer, R. Sable and G. Schaaf regarding strategy and procedure for emergency motion to expedite appeal and work on further revisions to motion (1.8); work on designation of contents and related documents for PBGC's appeal and investigate status of record and related items (.6)	2.80
10/03/03 DIS	Review documentation related to Cigna pension annuity (.8); conference call with R. McDonald, A. Qualls, B. Howley and E. Wodarczyk (.8)	1.60
10/03/03 GJS	Revise motion to expedite (1.2); research and analyze bankruptcy rules regarding same (.5)	1.70
10/03/03 VLC	Review, analyze and index documents regarding appeal from distress termination order (3.8); index PBGC's exhibits from distress termination hearing per R. Crouch (.3)	4.10
10/03/03 HRH	Scan KERP; transmit to W. Schorling upon request	.30

Special Metals Corporation File Number: 2035688

File Number: 2035688 Page 12

Invoice No. 90598237 November 17, 2003

10/06/03 RWC	Conference with 1114 committee (.2); revise emergency motion and circulate for comments (.6); review comments, discuss strategy and revise motion (1.0); review designation of contents of record on appeals and related documents and revise (.3)	2.10
10/06/03 RGS	Review e-mails and motions regarding PBGC and respond	.40
10/06/03 GJS	Draft designation of record (1.8); draft statement of matters complained of on appeal (1.2); conference with R. Crouch (.8); work on motion for expedited appeal (.9)	4.70
10/06/03 DAA	Work on response for W. Wendler's question	.30
10/06/03 VLC	Prepare designation of pleadings for the record on appeal per R. Crouch (.8); review documents and docket per R. Crouch regarding designation of record (2.8); prepare documents for appeal (5.1)	8.70
10/07/03 RWC	Incorporate 1114 committee joinder in motion and confer with C. Jones on related issues (.3); review additional comments from Latham and Watkins and G. Schaaf and incorporate into motion (.5)	.80
10/07/03 GJS	Telephone call from C. Jones (.1); conference with R. Crouch regarding motion to expedite (.4); telephone conference with bankruptcy court clerk (.2)	.70
10/07/03 DAA	Research and response to W. Wendler's question regarding severance claim	.30
10/07/03 VLC	Conference with R. Crouch regarding transcripts from 1113 and 1114 hearings (.2); preparation of 1113 and 1114 hearing transcripts per R. Crouch (.6)	.80
10/08/03 RWC	Telephone conference with T. Solomon regarding strategy for designation of contents of record and related filings (.3); telephone conference with S. Block-Lieb regarding same (.3); draft, circulate and revise materials for PBGC appeal (.6); confer with local counsel regarding statement of issues on appeal and local procedure (.2); revise and circulate emergency motion to expedite appeal and circulate for comment (.5); review PBGC designation and	2.20

Page 13

<u>Invoice No. 90598237</u> November 17, 2003

	statement of issues (.3)	
10/08/03 RGS	Telephone conference with C. Jones and J. Bailes regarding salaried retiree issues (.5); telephone conference with R. Rosenberg regarding salaried retirees and PBGC (.3); letter to D. Wanlass regarding salaried retirees (.3); conference with R. Crouch regarding pending motions and appeal (.4)	1.50
10/08/03 DIS	Telephone conference with J. Silverman regarding retiree issues	.20
10/08/03 VLC	Prepare designation of record on appeal per R. Crouch, including preparation of pleadings to be included (7.7); review PBGC's designation of the record (.4); conferences with K. Wilson regarding designation of the record (.6); conferences with G. Stubenhofer and R. Crouch regarding designation of the record on appeal (.4)	9.10
10/09/03 RWC	Work related to emergency motion, including draft and revision of motion, strategy for motion, circulation and solicitation of comments, including multiple telephone calls to Latham and Watkins, local counsel, USW, and 1114 committee (6.1); strategy regarding handling of Inco commercial litigation (.2)	6.30
10/09/03 DAA	Calculate PBGC's post-petition administrative claims	1.50
10/09/03 K B	Meeting with R. Crouch regarding assignment (.5); research removal of pre-petition litigation to bankruptcy court (3.9); meeting with R. Sable and research regarding effect of filing a proof of claim (.3)	4.70
10/09/03 VLC	Create appeal binders per R. Crouch (5.5); review docket per R. Crouch regarding Credit	5.80

Lyonnais' appeal (.3)

Page 14

File Number: 2035688 Invoice No. 90598237 November 17, 2003

10/10/03 RWC	Telephone conference with D. Jury regarding emergency motion to expedite (.2); confer with G. Stubenhofer regarding discussions with PBGC, motion and filing (.4); review draft affidavit for motion (.1); strategy for motion and revise motion (1.0); finalize designation and index for filing and service (.2); telephone call with Latham and Watkins regarding PBGC appeal (.2)	2.10
10/10/03 RGS	Review and analyze TGJ KERP resolutions; exchange messages with B. Dropkin and L. Thompson	.50
10/10/03 RGS	Telephone conference with J. O'Leary regarding PBGC negotiations and update	.30
10/10/03 GJS	Work on motion for expedited appeal (1.7); conference with R. Crouch regarding same (.4); draft affidavit for motion (1.9); telephone conference with N. Heermans, counsel for PBGC (.4)	4.40
10/10/03 K B	Research proof of claim and ability to object by way of counterclaim	4.10
10/10/03 VLC	Conference with K. Batik regarding R. McDonald's documents (.2); preparation of the return of R. McDonald's documents (.2)	.40
10/10/03 VLC	Prepare indexes and review documents per R. Crouch regarding distress termination appeal	7.00
10/11/03 RGS	Review motion to expedite appeal (.4); letter to R. Crouch and G. Stubenhofer regarding changes to motion (.3); telephone conference with R. Rosenberg regarding changes to motion (.2); telephone conference with J. Bailes regarding retiree need to delay VEBA (.3)	1.20
10/12/03 K B	Draft memorandum regarding proof of claim and counterclaim issue	2.80
10/13/03 RWC	Continued work of filings related to appeals, including emergency motion to expedite	1.90
10/13/03 RGS	Telephone conference with W. Schorling regarding payment to G. John	.30
10/13/03 GJS	Locate record citations for motion for expedited appeal (1.0); work on same (.7)	1.70

Invoice No. 90598237

10/13/03 K B	Revise memorandum regarding proof of claim; research status of New York litigation	.90
10/13/03 VLC	Conferences with G. Stubenhofer regarding supporting documentation for emergency motion to expedite appeal (.7); locate and review supporting documentation for emergency motion to expedite appeal per G. Stubenhofer (6.9); conferences with K. Wilson regarding appeal documentation and procedures for filing miscellaneous motions in district court (1.3)	8.90
10/14/03 RWC	Continued work on motion to expedite appeal, including revisions, strategy and solicitation and incorporation of comments	.80
10/14/03 DIS	Telephone conference with J. Silverman regarding various PBGC issues and health care tax issue; e-mail to R. Crouch	.40
10/14/03 GJS	Revise affidavit in support of motion for expedited appeal (1.5); revise motion for expedited appeal (1.5); coordinate filing of same (.9)	3.90
10/14/03 K B	Review and revise memorandum regarding Inco proof of claim	.70
10/14/03 VLC	Conferences with K. Wilson regarding distress termination transcript (.3); conferences with G. Stubenhofer regarding distress termination transcript (.2); correspondence with various counsel regarding distress termination transcript (.2); prepare motion to expedite appeal per G. Stubenhofer and R. Crouch (4.3)	5.00
10/15/03 RWC	Finalize motion to expedite appeal (1.0); review and comment on motion to transfer record (.3); review e-mail from PBGC and confer regarding strategy to expedite appeal (.3); work related to insurance company appeals (.5)	2.10
10/15/03 DIS	E-mail correspondence with B. Howley regarding Cigna	.10
10/15/03 GJS	Receipt and review of transcript from pension termination hearing (1.0); modify motion for expedited appeal accordingly (1.4); telephone conferences with G. Schaaf (.3); draft motion to transfer docket (.9); coordinate filing of all motions (1.0)	4.60

Invoice No. 90598237

November 17, 2003

10/15/03 DAA	Telephone conference with P. Boger regarding consulting for SMC and e-mail to D. Swan (.2); telephone to P. Boger (.1)	.30
10/15/03 VLC	Prepare motion to expedite appeal and exhibits per R. Crouch (6.4); prepare for filing motion to expedite appeal per R. Crouch and G. Stubenhofer (2.2); conferences with R. Crouch and G. Stubenhofer regarding motion to expedite appeal (.4); conferences with K. Wilson regarding preparation for filing motion to expedite appeal (.3); review correspondence regarding PBGC's possible consent to motion to expedite appeal (.3)	9.60
10/16/03 RWC	Follow-up with local counsel regarding status of filing of motion to expedite and local counsel's communications with the court (.2); follow-up on internal distribution of materials filed with the court (.2); review PBGC's response to motion (.3)	.70
10/16/03 DIS	Telephone conference with R. McDonald regarding Cigna annuity issues	.30
10/16/03 DIS	Telephone conference with D. Wanlass regarding pension issues (.3); review 1114 order; telephone call to D. Wanlass	.40
10/16/03 GJS	Receipt and review of PBGC's response to motion to expedite	.30
10/16/03 K B	Receive assignment from R. Sable regarding PBGC's claims (.1); e-mail R. Sable regarding same (.1)	.20
10/17/03 RWC	Review order transmitting record (.1); telephone conversations regarding status of PBGC's appeal and emergency motion (.3); review motion of 1114 committee to defer court's order modifying retiree benefits and telephone conversations to discuss strategy and implications (.3)	.70
10/17/03 DIS	Conference call with A. Qualls, B. Howley, E. Wodarczyk and R. McDonal regarding Cigna retirement annuity issues	1.30

File Number: 2035688

Invoice No. 90598237

Page 17

November 17, 2003

10/17/03 GJS	Telephone conference with R. Sable regarding PBGC's response to motion to compel (.2); analyze alternatives regarding same (.3); conference with K. Batik regarding pension termination issues (.3)	.80
10/17/03 DAA	Conference with K. Batik on PBGC termination issues	.50
10/17/03 DAA	E-mail to R. Sable regarding pension issues	.10
10/17/03 K B	Research pension termination liability discharge timing	4.80
10/17/03 JEV	Telephone conversation with R. Sable regarding pension issues (.1); research pension plan termination issues (2.4); conference with K. Batik regarding same (.2)	2.70
10/17/03 JEV	Research additional pension plan and claims issues (1.4); conference with K. Batik regarding same (.5)	1.90
10/17/03 VLC	Conferences with G. Stubenhofer regarding motions by the retirees (.2); review, analyze and index documents regarding distress termination appeals (5.1); review documents from retirees (.6); update pleadings indexes per G. Stubenhofer regarding appeals (.9)	6.80
10/17/03 MJA	Receive and review instructions from D. Swan per motion by 1114 committee (.3); upload and forward to R. Crouch (.2)	.50
10/18/03 K B	Research dischargability of PBGC's proof of claim for unfunded benefits liability	4.10
10/18/03 JEV	Research pension plan issues and outline findings and description of further issues to review	2.60
10/19/03 K B	Research discharge of PBGC's claim (1.8); draft memorandum regarding same (4.2); conference with R. Sable regarding same (.5)	6.50
10/20/03 RWC	Multiple telephone calls with J. Silverman, E. Wodarczyk and conference with R. Sable regarding effect of appeal on pension benefit payments (.8); inquiries into status of various appeals (.2); review and docket order on PBGC's	2.70

File Number: 2035688

Page 18 Invoice No. 90598237 November 17, 2003

	appeal (.2); confer with D. Swan and R. Sable regarding strategy for Century's appeal and declaratory judgment action (.4); participate in conference call with USWA regarding implications of PBGC's appeal and strategy (.8); confer with R. Sable and K. Batik regarding issue of vague statement of issues filed by Century (.3)	
10/20/03 RGS	Conference call with J. O'Leary and D. Jury regarding consummation and labor matters (1.5); telephone conference with J. O'Leary regarding further steps (.2)	1.70
10/20/03 RGS	Telephone conference with D. Wanlass (.3); telephone conference with B. Dropkin regarding pension issues (.2)	.50
10/20/03 DIS	Conference with R. Sable regarding G. John KERP issues	.30
10/20/03 GJS	Telephone conference with G. Schaaf (.1); conference regarding preparation of appellate brief regarding pension termination (.3)	.40
10/20/03 DAA	Conference with K. Batik regarding plan termination	.40
10/20/03 K B	Review and revise memorandum regarding discharge of PBGC's claims (3.7); research statement of issues requirement (1.1); read bankruptcy rules regarding appeal brief (.4)	5.20
10/20/03 JEV	Conference with K. Batik regarding pension plan issues (.5); research additional timing issues related to termination and effective dates (1.6)	2.10
10/20/03 VLC	Conference with K. Wilson regarding transcript for distress termination hearing	.30
10/20/03 MJA	Run extranet search for KERP motion and order; forward to D. Swan per request	.40
10/20/03 MJA	Locate, scan and forward by e-mail copies of 1114 motion and proposed order to R. Dropkin per D. Swan's request	1.00
10/21/03 DIS	Review KERP plan and related correspondence on G. John's benefits	.40

issue

10/22/03 DAA

10/22/03 K B

File Number: 2035688
Invoice No. 90598237

Page 19 November 17, 2003

.50

5.90

.10 10/21/03 DIS E-mail correspondence with K. Winters regarding PBGC and political interest 10/21/03 K B Research PBGC statement in plan regarding 4.30 effective date (1.7); finalize memorandum regarding dischargability issue (1.3); research process for motion to dismiss defective appeal (1.3)10/21/03 VLC Conference with R. Crouch and K. Batik 5.90 regarding statement of the issues (.3); conference with K. Batik regarding documents needed for motions (.3); prepare documents per K. Batik regarding documents in preparation for drafting motions (5.3) 10/22/03 RWC Confer with R. Sable regarding memorandum for 2.40 Congress Financial relative to plan confirmation appeals and status of PBGC appeals (.3); draft and revise memorandum (1.8); confer with K. Batik and revise memorandum (.3) 10/22/03 RGS Response to D. Wanlass' e-mail regarding VEBA .30 and other issues 10/22/03 RGS Review memorandum from B. Dropkin and A. Qualls 1.30 regarding retiree and employee benefits (.8); telephone conference with J. Bailes regarding salaried retiree issues (.5) 10/22/03 RGS Conference call with J. O'Leary, D. Wanlass and .80 Dean regarding closing and related issues 10/22/03 DIS Draft motion for authority to pay G. John base 3.20 retirement benefit 10/22/03 DIS Review memorandum from Rhoades regarding Cigna .30 annuity issue and letter from B. Howley to PBGC 10/22/03 DIS Conference call with Rhoades, B. Howley, R. 1.00 McDonal and A. Qualls regarding Cigna and follow-up with D. Austin regarding rejection

Research issues of CIGNA termination

Draft brief in support of appeal of pension

termination order (4.5); draft motions to dismiss Travelers and Century appeals (1.4)

Special Metals Corporation File Number: 2035688

Page 20

Invoice No. 90598237 November 17, 2003

10/22/03 VLC	Conferences with R. Crouch regarding documentation for memorandum to R. Sable (.5); prepare documents per R. Crouch (8.7)	9.20
10/23/03 RWC	Confer with R. Sable regarding status of PBGC's appeal and retiree committee's motion (.2); telephone conference with J. Silverman twice (.2); conference call with R. Sable and client related to PBGC and insurance company appeals (.7); revise memorandum regarding PBGC's appeals (.5); review client's comments to answer in Century adversary and revise, make arrangements for filing and services (.5); review draft brief on PBGC's appeal (.8)	2.90
10/23/03 RGS	Review ten page letter from J. Bailes on Cigna issues and circulate to client and attorney	1.10
10/23/03 DIS	Discuss motion to authorize payment to G. John (.2); revise (.8)	1.00
10/23/03 DIS	Conference D. Austin regarding Cigna annuity and rejection issues	.20
10/23/03 K B	Draft motion to dismiss appeals and supporting briefs (2.6); revise brief on appeal (2.1); add termination liability section to R. Crouch's memorandum (.9)	5.60
10/23/03 VLC	Prepare documents per K. Batik regarding answer to appeal	4.10
10/23/03 HRH	Obtain motion of salaried retirees for order requiring debtors to modify confirmed plan	.20
10/24/03 RWC	Telephone conference with R. Dropkin and review facsimile, e-mail and comments regarding motion to pay benefits to G. John (.6); multiple telephone conferences with G. Schaaf and G. Schaaf's office regarding various issues related to pending appeals, motions and strategy (.7); telephone conference with R. Sable regarding various issues related to pending appeals and motions (.2); finalize answer and affirmative defenses to Century Adversary and transmit to G. Schaaf for filing (.4); consideration and strategy regarding filing motions to dismiss from insurance company appeals (.6); work on appellate brief regarding PBGC appeal (.6)	3.10

Special Metals Corporation File Number: 2035688

Invoice No. 90598237

Page 21

November 17, 2003

10/24/03 VLC	Conferences with various parties regarding appeal documents (.6); prepare documents and binders per R. Crouch and K. Batik (5.9)	6.50
10/25/03 RWC	Work on PBGC appeal brief	1.20
10/27/03 RWC	Review draft memorandum for transmission to Congress Financial, e-mails and comments regarding same (.5); review and assist with finalization of brief for filing and service (.7)	1.20
10/27/03 RGS	Conference with R. Crouch (.2); conference with K. Batik regarding PBGC appeal (.2); review brief (.3)	.70
10/27/03 RGS	Prepare response to salaried retiree committee motion (1.0); telephone conference with J. Bailes and C. Jones regarding retiree motion (.3); prepare for hearing (.4)	1.70
10/27/03 DIS	Conference call on Cigna annuity issues	.50
10/27/03 DIS	Review and revise response to 1114 committee motion to delay termination of retiree benefits	.30
10/27/03 K B	Review, revise and finalize appeal brief; service on PBGC	2.20
10/27/03 VLC	Prepare for filing appellant brief per R. Crouch and K. Batik (5.8); prepare October 28, 2003 hearing folder per R. Sable (3.2)	9.00
10/27/03 LAG	Examine brief and prepare table of contents and table of statutes and authorities	1.20
10/28/03 RWC	Telephone conferences with V. Curfman and K. Batik regarding various issues related to plan confirmation appeals, status of corrections to the record, memorandum for Congress Financial, motions to dismiss appeals and related matters (.5); review e-mails on same matters and respond (.2)	.70
10/28/03 RGS	Travel to Lexington, KY for salaried retiree hearing (5.0 hours billed at 50%)	2.50
10/28/03 RGS	Prepare for and attend hearing on 1114 salaried retiree modification motion	2.00

Invoice No. 90598237

10/28/03 RGS	Telephone conference with D. Swan regarding letter to retirees (.2); review letter to retirees and discuss with D. Wanlass and A. Qualls (.5)	.70
10/28/03 RGS	Telephone conference with R. Rosenberg (.2); telephone conference with D. Wanlass regarding hearing (.2)	.40
10/28/03 RGS	Telephone conference with D. Wanlass (.2); telephone conference with J. O'Leary (.2); telephone conference with K. Batik regarding PBGC strategy letter and motion (.3); review e-mail from M. Miller and forward to R. McDonald and D. Wanlass regarding opinion (.5)	1.20
10/28/03 RGS	Travel return from retiree hearing in Lexington (4.2 hours billed at 50%)	2.10
10/28/03 DIS	Review A. Qualls' letter to retirees and follow-up with R. Sable	.40
10/28/03 GJS	Conference with R. Crouch regarding PBGC appellate brief (.2); review trial transcript regarding same (.5)	.70
10/28/03 K B	Telephone call to court reporter regarding transcript (.4); telephone call to R. Sable regarding PBGC's demand letter (.2); review PBGC reply brief and transcript (1.8)	2.40
10/29/03 RWC	Confer with K. Batik regarding status of various issues related to PBGC appeal and pension termination (.2); telephone conference with R. Sable regarding motion to compel termination of plans (.2); review PBGC brief and outline comments for reply (.6)	1.00
10/29/03 RGS	Telephone conference with E. Wodarczyk regarding pension and health care issues (.3); conference with K. Batik regarding demand to PBGC (.3); telephone conference with R. Crouch regarding response on various adversary issues (.2)	.80
10/29/03 DIS	Address Cigna and other pension annuity issues; review position letter drafted by B. Howley and postilion letter by J. Bailes	.70

File Number: 2035688 Page 23

Invoice No. 90598237 November 17, 2003

10/29/03 DIS	Telephone conference with R. McDonald regarding Cigna (.2); various e-mail correspondence with B. Howley and A. Qualls (.3)	.50
10/29/03 DIS	Telephone conference with K. Hatfield of Byrd's office regarding PBGC issues; inform R. Sable	.30
10/29/03 DIS	Address A. Qualls' inquiry regarding VEBA trust payments	.20
10/29/03 К В	Meeting with R. Sable regarding PBGC (.5); draft letter to PBGC regarding pension termination (1.6); review Credit Lyon brief (.4)	2.50
10/29/03 VLC	Conference with R. Sable regarding memorandum and preparation of documents in support of memorandum	4.50
10/30/03 RWC	Conference with R. Sable and K. Batik regarding insurance appeals, opinion letter for Congress Financial, motions to dismiss, correction of record on PBGC appeal and related matters (.7); conference call with R. Rosenberg (.1); further conferences and follow-ups regarding correction to the record (.3); review motions to consolidate appeals and comments (.4); review memorandum for Congress Financial as revised (.2)	1.70
10/30/03 RGS	Conference call with R. Rosenberg, C. Van Essche, D. Wanlass and J. O'Leary regarding PBGC	.80
10/30/03 RGS	Revise memorandum for Congress Financial (.6); discuss changes with R. Crouch and K. Batik (.3); discuss changes with R. Rosenberg (.2); further revisions to memorandum (.4); respond to R. Rosenberg's changes (.3); revise memorandum further (.4)	2.20
10/30/03 RGS	Conference with K. Batik regarding demand letter to PBGC (.3); review draft and revise (.8)	1.10
10/30/03 RGS	Telephone conference with J. O'Leary (.2); letter to D. Wanlass (.2); revise memorandum (.3); revise demand letter to PBGC (.5); e-mail to R. Rosenberg, et al. regarding memorandum and PBGC conference (.2)	1.40

<u>Invoice No. 90598237</u>

November 17, 2003

10/30/03 RGS	Letter to R. Mc Donald; telephone conference with C. Jones; telephone conference with C. Jones regarding VEBA issues	.40
10/30/03 DIS	Review B. Howley's revisions to Cigna's letter	.10
10/30/03 GJS	Telephone conferences with N. Hermans (.3); review and revise stipulation to correct record (.4); review procedure for same (.5)	1.20
10/30/03 K B	Draft reply brief for PBGC appeal (6.9); meeting with R. Sable (.3); draft stipulated motion to correct record (1.0)	8.20
10/31/03 RWC	Review order of court overruling 1114 committee's motion	.10
10/31/03 RGS	Review VEBA information from USWA and e-mail to D. Wanlass	.30
10/31/03 RGS	Numerous revisions to letter to PBGC (.7); conference call with PBGC (.5); post-conference call with J. O'Leary and D. Wanlass (.3); telephone conference with R. Rosenberg regarding conference call and further action (.2); conference with K. Batik regarding motion to compel PBGC (.3)	2.00
10/31/03 RGS	Conference with K. Batik regarding brief and PBGC motion (.2); respond to e-mails from F. Perillo (.3)	.50
10/31/03 RGS	Respond to R. Rosenberg regarding PBGC administrative claim (.1); telephone conference with E. Wodarczyk (.1)	.20
10/31/03 DIS	Telephone conference with R. Stewart regarding Cigna's letter	.20
10/31/03 DIS	E-mail correspondence to E. Wodarczyk, B. Howley and A. Qualls regarding suggestions to Cigna's letter	.30
10/31/03 GJS	Revise stipulation for correction of record of pension termination hearing	.70
10/31/03 K B	PBGC conference call (.5); research motion to terminate pension plans (1.2)	1.70

<u>Timekeeper</u>

File Number: 2035688

Invoice No. 90598237

Page 25 November 17, 2003

Robert G. Sable	\$410.00	34.8	\$14,268.00
Ronald W. Crouch	\$300.00	39.9	\$11,970.00
Gerald J. Stubenhofer	\$240.00	30.4	\$7,296.00
David I. Swan	\$235.00	14.5	\$3,407.50
Daniel A. Austin	\$225.00	5.4	\$1,215.00
James E. Van Horn	\$170.00	9.3	\$1,581.00
Kevin Batik	\$170.00	66.8	\$11,356.00
Leslie Ann Glasl	\$125.00	1.2	\$150.00
Heather Rajoppi Hickman	\$110.00	0.8	\$88.00
Vicki L. Curfman	\$110.00	113.6	\$12,496.00
Mary Jo Albright	\$105.00	1.9	\$199.50
TOTAL	FEES	318.6	\$64,027.00

TOTAL FOR MATTER 2035688-0009

\$64,027.00

Invoice No. 90605722

Re: Employee Matters

Our File No. 2035688-0009

For Services Rendered Through Nov 30, 2003

•		
11/01/03 RGS	Review and revise PBGC's reply brief	.60
11/03/03 RWC	Review Credit Lyonnais' principle brief (.4); review, comment and revise reply brief on PBGC's appeal (1.4); strategy regarding potential complaint to compel termination (.5)	2.30
11/03/03 RGS	Review e-mails from D. Wanlass and B. Dropkin, and discuss further PBGC action with D. Wanlass	.60
11/03/03 RGS	Conference with K. Batik regarding changes to PBGC's brief	.30
11/03/03 DIS	Review PBGC worksheet (.1); e-mail correspondence related thereto (.1)	.20
11/03/03 DIS	Review letter to Cigna and related correspondence from R. Howley	.10
11/03/03 DIS	Review PBGC's inquiry and discuss with K. Batik and others	.20
11/03/03 DAA	Calculate PBGC's administrative claims (1.7); telephone and e-mail with D. Wanlass regarding same (.3)	2.00
11/03/03 DAA	Review information on termination of pension plans	.50
11/03/03 K B	Draft complaint to compel termination of pension plans (5.2); research regarding non-debtor entities (2.4)	7.60
11/03/03 LAG	Draft table of contents and table of authorities for brief	.80
11/04/03 RWC	Confer with K. Batik and review draft complaint to compel termination of pension plans (.7); review PBGC's reply brief (.4); review reply brief of Credit Lyonnais regarding PBGC's appeal (.4); consult regarding consolidation of PBGC District Court appeals (.2)	1.70

Page 7 Invoice No. 90605722 December 11, 2003

11/04/03 RGS	Telephone conference with Silverman (.5); conference with K. Batik regarding PBGC issues (.3); letter to B. Rosenberg regarding PBGC claim information (.3); telephone conference with B. Dropkin regarding pension payments and alternative to PBGC issues (.4); telephone conference with D. Wanlass regarding PBGC's position (.3)	1.80
11/04/03 RGS	Telephone conference with G. John (.2); telephone conference with B. Dropkin regarding KERP issues (.2)	.40
11/04/03 RGS	Telephone conference with C. Jones regarding plan termination (.2); telephone conference with N. Heerman regarding PBGC information (.3); telephone conference with B. Rosenberg (.2); letter to D. Wanlass and J. O'Leary (.4); review e-mail from N. Heerman (.3); review, revise and discuss PBGC's motion with K. Batik (1.2); telephone conference with D. Wanlass regarding update (.3)	2.90
11/04/03 DIS	Conference with R. Sable regarding PBGC	.30
11/04/03 K B	Draft complaint to compel termination of pension plans (3.6); meeting with R. Sable regarding same (.2)	3.80
11/05/03 RWC	Confer with R. Sable and K. Batik regarding strategy for PBGC appeals, and review and revise complaint to compel termination (1.1); telephone conference with G. Schaaf regarding procedural questions on potential adversary compliant against PBGC and status of PBGC's appeal (.2); second call and e-mail from G. Schaaf regarding follow-up on PBGC's appeal status (.1); conference call with J. O'Leary regarding status of PBGC administrative process and strategy (.3); review e-mail exchange with PBGC (.2)	1.90
11/05/03 DIS	Review correspondence from R. Wilson of Cigna	.10
11/05/03 K B	Meeting with R. Sable and R. Crouch regarding complaint (.6); revise complaint to terminate pension plans (6.6)	7.20

Invoice No. 90605722

11/05/03 VLC	Conferences with R. Sable regarding reply briefs to M. Miller (.2); review, analyze and index District Court documents per R. Crouch (2.2); prepare documents per R. Sable for M. Miller (.5)	2.90
11/05/03 LAG	Office conference with R. Crouch regarding case status and staffing needs	.20
11/06/03 RWC	Review PBGC's motion to file sur-reply and proposed sur-reply (.3); review draft motion to compel and confer with K. Batik regarding same (.5); review e-mail to and from PBGC, bank's counsel and others regarding status and strategy (.2)	1.00
11/06/03 RGS	Respond to N. Heerman's e-mail regarding information	.50
11/06/03 RGS	Review PBGC's reply brief	.30
11/06/03 RGS	Respond to e-mail regarding actions and strategy with PBGC	.50
11/06/03 DIS	Telephone conference with E. Wodarcyk regarding Cigna and Aetna pension issues	.90
11/06/03 DIS	Draft memorandum summarizing Cigna and Aetna pension issues	1.10
11/06/03 K B	Draft motion regarding process and timeline for complaint to terminate pension plans	2.50
11/06/03 LAG	Office conference with V. Curfman regarding case status and procedures	.50
11/07/03 RWC	Draft e-mail and memorandum regarding strategy for expediting hearing on motion to compel (1.2); participate in conference calls regarding same (.5); review, comment and revise motion to compel (.8)	2.50
11/07/03 RWC	Review order from magistrate regarding PBGC's appeal and docket follow-up dates	.20
11/07/03 RGS	Conference with K. Batik and R. Crouch regarding strategy plan for PBGC's motions (.3); telephone conference with B. Dropkin regarding PBGC's e-mail and Credit Lyonnais (.2)	.50

File Number: 2035688
Invoice No. 90605722

Page 9 December 11, 2003

Conference with D. Swan regarding motions and .20 11/07/03 RGS complaint to determine Prepare for conference call (.3); conference 2.20 11/07/03 RGS call with Credit Lyonnais, B. Rosenberg, C. Van Essche and J. O'Leary regarding PBGC (1.0); conference call with J. O'Leary and D. Wanlass regarding further action (.2); telephone conference with J. Keightley and J. O'Leary (.2); telephone conference with B. Rosenberg (.1); letter to N. Heerman regarding PBGC information request (.4) Review e-mail from PBGC notice and send to M. .50 11/07/03 RGS Miller 3.30 Research PBGC's procedure for termination of 11/07/03 K B pension plans and filing notice of same (2.4); draft e-mail regarding same to R. Sable (.2); draft response to PBGC's motion for leave to file sur-reply (.7) Conference with M. Albright regarding District .30 11/07/03 VLC Court filings and docketing issues (.2); phone conference with K. Wilson regarding District Court filings and docketing issues (.1) 3.20 Examine correspondence and pleadings and 11/07/03 LAG prepare index to documents (1.9); prepare list of documents to be downloaded from internet (1.3).20 Review revised pension calculations from R. 11/08/03 RWC Howley and accompanying e-mail 11/08/03 RGS Exchange e-mails with D. Wanlass and J. O'Leary .40 regarding PBGC issue Review R. Howley's memorandum and Dunkirk and .20 11/08/03 DIS Princeton's analysis Telephone conference with J. Gillespie (.3); 3.20 11/10/03 RGS review and comment on e-mails (.7); prepare for PBGC call (.4); participate in conference call with PBGC (1.2); post-conference call with D. Wanlass, J. O'Leary and J. Gillespie (.6) .50 Telephone calls with K. Batik regarding PBGC 11/10/03 DIS issues and insurance appeals

File Number: 2035688
Invoice No. 90605722

Page 10 December 11, 2003

11/10/03 K B	Review memorandum on Hereford (.5); telephone calls with D. Swan regarding insurance appeals (.7)	1.20
11/11/03 RWC	Review Credit Lyonnais' response to motion to file reply	.40
11/11/03 RGS	Telephone conference with B. Rosenberg (.2); letter to B. Rosenberg with pension information (.2)	.40
11/11/03 RGS	Review updated PBGC's appeal pleading (.2); telephone conference with J. Gillespie regarding Hereford and PBGC data (.4)	.60
11/11/03 DIS	Prepare memorandum summarizing Cigna and other pension issues	1.40
11/11/03 DIS	Review E. Wodarcyk's correspondence (.3); telephone conference with E. Wodarcyk regarding pension issues and updates (.2)	.50
11/11/03 DIS	Review R. Howley's e-mails and correspondence relating to Aetna and Cigna pension annuities	.20
11/11/03 K B	Research binding effect of plan continuation on later proceeding	1.30
11/12/03 RGS	Review many e-mails and exhibits from J. Gillespie and D. Wanlass regarding Hereford and PBGC issues in preparation for conference call (.8); organize data and argument for PBGC (.3)	1.10
11/12/03 RGS	Review and analyze D. Swan's memorandum on Cigna issues	.30
11/12/03 RGS	Conference call with D. Wanlass, R. McDonald, J. Gillespie and J. O'Leary regarding PBGC and closing issues	.80
11/12/03 RGS	Telephone conference with J. O'Leary regarding PBGC call (.2); telephone conference with J. Gillespie regarding additional PBGC information (.2)	.40
11/12/03 RGS	Dictate PBGC's memorandum of understanding	.90
11/12/03 DIS	Review correspondence from R. Howley to PBGC (.2); revise pension memorandum (.4)	.60

File Number: 2035688 Invoice No. 90605722

Page 11 December 11, 2003

11/12/03 VLC Review and prepare documentation per K. Batik 2.10 and R. Crouch regarding PBGC filings and responses 11/13/03 RWC Review draft agreement with PBGC .90 11/13/03 RGS Further drafting of PBGC's memorandum of .30 understanding 11/13/03 RGS Revise PBGC agreement .60 11/13/03 RGS Review and revise PBGC agreement (.5); 1.50 telephone conference with J. O'Leary (.2); conference call with D. Wanlass, J. Gillespie and R. McDonald regarding PBGC and plan confirmation issues (.6); telephone conference with M. Miller regarding Congress Financial issues (.2) 11/13/03 DIS Telephone conference with E. Wodarcyk regarding .20 Cigna issues (.1); telephone call to R. Wilson (.1)11/13/03 DIS Conference with R. Sable regarding PBGC issues .20 11/13/03 DIS Revise Cigna's pension memorandum and review R. .30 Sable's letter to J. Bailes 11/13/03 K B Review proposed settlement request .30 11/14/03 RWC Review e-mail from client (.2); confer with R. 6.30 Sable and K. Batik regarding strategy and procedure (.5); participate in various conference calls relating to PBGC, including client, J. O'Leary, R. Rosenberg and local counsel (1.4); draft and revise e-mail regarding status, procedure and strategy for internal circulation (.5); review and revise complaint to compel (.8); participate in additional conference calls regarding PBGC's decision (1.1); assist in finalizing, filing and service of complaint to compel and complaint to discharge (1.7); exchange e-mail with D. Wanlass regarding proposed procedures and bank approval regarding same (.1) 11/14/03 RGS Telephone conference with J. O'Leary (.2); .70 letter to J. Keightley with settlement agreement (.3); telephone conference with J. O'Leary and telephone call to J. Keightley (.2)

<u>Invoice No. 90605722</u> December 11, 2003

11/14/03 RGS	Conference call with J. O'Leary and J. Keightley (.4); telephone conference with J. O'Leary regarding call (.2); telephone conference with D. Wanlass regarding call and further action (.2); conference call with D. Wanlass, R. McDonald, B. Dropkin and J. Gillespie regarding plan and PBGC issues (.5); telephone conference with B. Rosenberg and J. O'Leary regarding PBGC action and non action (.3)	1.60
11/14/03 RGS	Dictate changes to PBGC complaint (.2); work on filing of two PBGC complaints, including discussions with R. Crouch and K. Batik (1.7)	1.90
11/14/03 RGS	Telephone conference with B. Dropkin regarding changes to PBGC settlement agreement	.30
11/14/03 DIS	Meet with R. Sable, R. Crouch and K. Batik regarding PBGC issues	.60
11/14/03 DIS	Conference call regarding PBGC and other closing issues	.80
11/14/03 DIS	E-mail correspondence with E. Wodarcyk regarding Cigna and Prudential (.2); telephone conference with T. Schiaffo of Cigna regarding pension dispute (.2); follow-up correspondence to client regarding status (.1)	.50
11/14/03 K B	Revise complaint to terminate pension plans (3.4); file and serve same (.5); meeting with R. Sable and R. Crouch (.6)	4.50
11/14/03 VLC	Conferences with R. Crouch and R. Sable regarding PBGC negotiations and documentation (.7); review documents and exhibits from hearing per R. Sable (2.9); prepare and file two new adversaries regarding motion to terminate pensions per K. Batik and D. Swan (5.3); various conferences with D. Swan, R. Crouch and K. Batik regarding status of negotiations with PBGC and potential new filings (.7)	9.60
11/17/03 RWC	Review status of PBGC discussions	.10

<u>Invoice No. 90605722</u> <u>December 11, 2003</u>

11/17/03 RGS	Work on preparation for conference call, including calls with D. Wanlass (.2), R.	2.40
	Dropkin (.2) and PBGC (.1); e-mail to PBGC, review comparisons of plan and prepare for call with PBGC (.8); conference call with PBGC (.6); telephone conference with R. Howley and e-mail to R. Howley (.5)	
11/17/03 RGS	Telephone conference with J. O'Leary (.2); telephone conference with B. Dropkin (.2); telephone conference with D. Wanlass (.2); conference call with PBGC (.5); conference call with J. O 'Leary, D. Wanlass, B. Dropkin and R. Howley regarding PBGC information request (.4); review and revise motion to expedite hearing (.6); conference with K. Batik and D. Swan regarding changes (.4); telephone conference with D. Wanlass regarding motion to expedite (.2)	2.70
11/17/03 DIS	Review GECC administrative claim motion and e-mail to P. Johnson	.20
11/17/03 DIS	Conference call with PBGC regarding disputes with termination	.70
11/17/03 K B	Draft motion for expedited trial; revise and serve same	5.50
11/18/03 RWC	Review motion to expedite and order granting motion and docket due dates (.5); conferences regarding status and strategy for hearing (.4)	.90
11/18/03 RGS	Telephone conference with B. Dropkin and D. Wanlass regarding PBGC issues (.3); conference with K. Batik and D. Swan regarding hearing (.2)	.50
11/18/03 RGS	Conference with D. Swan regarding hearing (.2); letter to F. Perillo regarding IAM issues (.4); respond to R. Howley's e-mails; telephone conference with M. Miller (.2); conference call with J. O'Leary, P. Hayden, D. Wanlass and B. Dropkin (1.5); telephone conference with J. O'Leary (.2); telephone conference with F. Perillo's office (.1); telephone conference with J. O'Leary and J. Keightley (.2); review documents (.3); discuss legal issues with K. Batik (.3); several conference calls with group (.4)	3.80

File Number: 2035688
Invoice No. 90605722

Page 14 December 11, 2003

11/18	3/03 RGS	Review law on follow-up plan	.80
11/18	3/03 DIS	Telephone conference with R. McDonald regarding PBGC status	.20
11/18	3/03 КВ	Research cases regarding follow-up plans (.9); serve court order on PBCG and SMC (.5); meeting with R. Crouch regarding hearing (.2); telephone call to G. Schaaf regarding hearing and service (.2)	1.80
11/19	9/03 RWC	Telephone conference with J. O'Leary (.1); review PBGC's motion for consideration, draft and revise reply, solicit comments and incorporate revisions, and prepare for filing and service (3.1); telephone conference with local counsel regarding scheduling (.1); review and revise proposed stipulation (.5); review PBGC's comments to proposed stipulation and discuss strategy with K. Batik (.3)	4.10
11/1	9/03 RGS	Conference call with R. Howley, J. O'Leary and D. Wanlass, et al. regarding PBGC issue	1.80
11/1	9/03 RGS	Conference with R. Crouch (.3); review PBGC's motion for delay and review and revise R. Crouch's response (.3)	.60
11/1	9/03 DIS	Conference call regarding PBGC developments and strategy	.90
11/1	9/03 DIS	Telephone conference with D. Wanlass regarding PBGC and alternatives	.20
11/1	9/03 DIS	Telephone conference with R. Sable and J. O'Leary regarding PBGC developments	.30
11/1	9/03 K B	Draft proposed stipulation for adversary hearing (1.7); revise stipulation with PBGC's comments (1.2)	2.90
11/2	0/03 RGS	Travel to Washington, DC for meeting with PBGC (5.6 hours billed at 50%)	2.80
11/2	0/03 RGS	Travel from Washington, DC from meeting with PBGC (5.00 hours billed at 50%)	2.50
11/2	0/03 DIS	Conference with R. Sable regarding opinion requested by Congress Financial on PBGC	.20

File Number: 2035688 Invoice No. 90605722 Page 15

December 11, 2003

11/20/03 DIS	Conference with R. Sable regarding PBGC's correspondence	.20
11/20/03 DIS	Confer with R. Sable, P. Hayden and K. Batik regarding PBGC settlement	.40
11/21/03 RWC	Multiple telephone conferences with J. O'Leary, G. Schaaf, R. Sable and D. Swan regarding settlement with PBGC and required documentation to finalize settlement for closing (.8); conference call with PBGC (.3); review draft settlement documentation (.5)	1.60
11/21/03 RGS	Telephone conference with J. O'Leary (.2); telephone conference with D. Swan, P. Hayden and J. O'Leary regarding PBGC settlement issues (.4); coordinate documentation and finalize settlement agreement (1.8)	2.40
11/21/03 DIS	Conference call with bank steering committee regarding PBGC settlement	.40
11/21/03 DIS	Telephone conference with E. Wodarcyk regarding pension issues	.20
11/21/03 DIS	Telephone call from T. Chapnel of Cigna (.1); correspondence to E. Wodarcyk regarding timing of response (.1)	.20
11/21/03 DAA	E-mail with T. Lemke regarding 1114 committee expenses	.20
11/24/03 RWC	Review status on PBGC settlement	.20
11/24/03 RGS	Telephone conference with N. Heerman regarding open issues (.2); telephone conference with N. Heerman (.2); review trustee certificates (.4); conference with D. Swan regarding PBGC and claims issues (.4)	1.20
11/24/03 DIS	Meet with R. Sable and telephone conference with J. O'Leary regarding PBGC issues	.30
11/24/03 DIS	Review Cigna's response to position letter on pension issues	.20
11/24/03 DAA	Draft application for reimbursement of expenses for T. Lemke	1.00
11/25/03 DIS	Correspondence to A. Qualls and others regarding Cigna's response	.20

File Number: 2035688

Invoice No. 90605722

Page 16

December 11, 2003

11/25/03 DAA	Review and revise data on PBGC administrative claims	.80
11/26/03 DIS	Review PBGC settlement summary for loan agreement and telephone calls with D. McCann	.30
11/26/03 DIS	Telephone conference with P. Hayden regarding PBGC termination agreements	.20
11/26/03 DIS	Telephone calls with B. Beyer regarding PBGC terminations (.2); receive and send signed agreement (.1); telephone conference with closing team (.2)	.50

Timekeeper	Rate/HR	Hours	Fees
Robert G. Sable	\$410.00	47.8	\$19,598.00
Ronald W. Crouch	\$300.00	24.3	\$7,290.00
David I. Swan	\$235.00	14.7	\$3,454.50
Daniel A. Austin	\$225.00	4.5	\$1,012.50
Kevin Batik	\$170.00	41.9	\$7,123.00
Leslie Ann Glasl	\$125.00	4.7	\$587.50
Vicki L. Curfman	\$110.00	14.9	\$1,639.00
TC	TAL FEES	152.8	\$40,704.50

TOTAL FOR MATTER 2035688-0009

\$40,704.50

Matter 0010	EXECUTORY	CONTRA	EXECUTORY CONTRACTS, PERSONAL		SES AND F	TY LEASES AND REAL ESTATE LEASES	E LEASES							ļ
Professional	Ā	August, 2003	13	Sep	September, 2003	03	O	October, 2003	3	No	November, 2003	03	T	Total
	Rate	Hours	Total Fees	Rate	Hours	Total Fees	Rate	Hours	Hours Total Fees	Rate	Hours	Total Fees	Hours	Fees
												! !		
Patrick I Havden	\$0.00	0.0	\$0.00	\$0.00	0.0	\$0.00	\$0.00	0.0	\$0.00	\$430.00	17.4	\$7,482.00	17.4	8
Pohort G Sable	00 0\$	00		\$0.00	0.0	\$0.00	\$410.00	1.5	\$615.00	\$0.00	0.0	\$0.00	1.5	\$615.00
Javid I Swan	\$235.00	3.0	8	\$235.00	7.3	\$1,715.50	\$235.00	4.3	\$1,010.50	\$235.00	2.1	\$493.50	16.7	\$3,924.50
lames F Van Horn	\$0.00	0.0		\$170.00	0.5	\$85.00	\$0.00	0.0	\$0.00	\$0.00	0.0	\$0.00	0.5	
Thomas Matthew Collins	\$110.00	1.1	è	\$110.00	0.0	\$99.00	\$0.00	0.0	\$0.00	\$0.00	0.0	\$0.00	2.0	
Jary to Albright	\$0.00	0.0		\$105.00	3.3	\$346.50	\$105.00	0.3	\$31.50	\$0.00	0.0	\$0.00	3.6	\$378.00
and on the same														
Total:		4.1	\$826.00		12	12 \$2,246.00		6.1	\$1,657.00		19.5	\$7,975.50		41.7 \$12,704.50

File Number: 2035688

Page 35

<u>Invoice No. 90581165</u> <u>September 16, 2003</u>

Re: Executory Contracts, Personalty Leases and Real Estate Leases

Our File No. 2035688-0010

For Services Rendered Through Aug 31, 2003

08/12/03 DIS	E-mail correspondence with R. McDonald regarding assumed contracts	.10
08/16/03 DIS	Review and revise list of contracts to be assumed (.5); summarize pending contracts issues (.3)	.80
08/20/03 DIS	Review revised list of executory contracts to be assumed	.30
08/21/03 DIS	E-mail contracts list to P. Johnson and R. McDonald; telephone conference with R. McDonald	.40
08/25/03 DIS	Review contracts list and e-mail correspondence with R. McDonald; telephone conference with P. Johnson regarding contracts to be assumed and rejected	.50
08/25/03 TMC	Edit documents as requested by D. Swan regarding accept and reject lists	1.10
08/27/03 DIS	Telephone conference with P. Johnson regarding executory contracts	.20
08/28/03 DIS	Revise contracts list (.2); two telephone calls with P. Johnson (.3)	.50
08/29/03 DIS	Review current list of executory contracts to assume, reject and e-mail to S. Siegel and D. Kerrigan	.20

Timekeeper	Rate/HR	Hours	<u>Fees</u>
David I. Swan	\$235.00	3.0	\$705.00
Thomas Matthew Collins	\$110.00	1.1	\$121.00
TOTAL	FEES	4.1	\$826.00

October 14, 2003

Re: Executory Contracts, Personalty Leases and Real Estate Leases

Our File No. 2035688-0010

For Services Rendered Through Sep 30, 2003

09/02/03 DIS	Review updated executory contract list (.1) e-mail correspondence with P. Johnson (.1)	.20
09/02/03 DIS	Various e-mail correspondence regarding Penske executory contract	.20
09/02/03 DIS	Two telephone calls with R. McDonald regarding executory contracts	.30
09/03/03 DIS	Telephone conference with R. McDonald regarding Penske contract	.10
09/03/03 TMC	Research regarding assumption of contracts	.90
09/04/03 DIS	Telephone conference with R. McDonald regarding executory contracts	.20
09/04/03 DIS	Review and revise executory contract assumption list	.30
09/04/03 DIS	Draft notice for assumed executory contracts (1.2); telephone conference with P. Hayden to discuss (.2)	1.40
09/05/03 DIS	Revise contracts notice (.2); telephone conference with R. McDonald and revise assumption list (.3); finalize and arrange service (.5)	1.00
09/08/03 DIS	Follow-up on contract assumption schedule and arrange for filing	.60
09/08/03 MJA	Discussion with D. Swan regarding certificate of service of notice of intended assumption of executory contracts	.30
09/08/03 MJA	Draft certificate of service for notice of intended assumption of executory contract (.6); assemble service lists (.3); instruct IKON office services in service of notice (.1)	1.00
09/09/03 DIS	Review facsimile from G. Reisman regarding GE Capital lease (.1); facsimile to P. Johnson (.1); letter with re-notice to GE Capital (.1)	.30

File Number: 2035688 Invoice No. 90588396 Page 29

October 14, 2003

09/09/03 DIS	Telephone conference with R. McDonald regarding executory contract issues	.20
09/09/03 DIS	Review letter from K. Hogan regarding Citicapital agreement (.1); telephone conference with K. Hogan (.1)	.20
09/10/03 DIS	Telephone conference with P. Hayden regarding executory contracts process and other matters	.40
09/10/03 DIS	Review e-mail regarding Thistle Processing contract and telephone conference with P. Johnson	.20
09/11/03 DIS	Review correspondence from C. Hill regarding Citicapital lease payments and response	.20
09/12/03 DIS	Review facsimile from K. Hardy regarding Citicapital lease and statement of account (.1); facsimile to P. Johnson and R. McDonald (.1)	.20
09/15/03 DIS	Correspondence from CIGNA regarding executory contracts (.1); e-mail from J. Conner regarding UCSD contract and inquire with R. McDonald (.1)	.20
09/16/03 DIS	Telephone conference with S. Christenson regarding Oracle contracts	.10
09/24/03 DIS	Review Penske and Litech executory contracts (.3); telephone conference with P. Johnson (.1); telephone calls with J. Van Horn regarding motions to assume (.5)	.90
09/26/03 JEV	Follow-up telephone conversations and e-mail correspondence regarding service issues and notices of hearing for motions with Greenebaum (.3); conferences with staff regarding same (.2)	.50
09/27/03 DIS	E-mail correspondence with D. Bias regarding cure payments	.10
09/29/03 MJA	Draft notice of hearing in W. Castledine matter (.6); create hearing folder (.4); index all relevant pleadings filed into summation, outline, index and make edits to notice and forward to HRH for filing (.7); instruct IKON in service of notice (.3)	2.00

File Number: 2035688

Invoice No. 90588396

Page 30

October 14, 2003

Timekeeper	Rate/HR	Hours	Fees
David I. Swan	\$235.00	7.3	\$1,715.50
James E. Van Horn	\$170.00	0.5	\$85.00
Thomas Matthew Collins	\$110.00	0.9	\$99.00
Mary Jo Albright	\$105.00	3.3	\$346.50
TOTAL	FEES	12.0	\$2,246.00

TOTAL FOR MATTER 2035688-0010

\$2,246.00

Re: Executory Contracts, Personalty Leases and Real Estate Leases Our File No. 2035688-0010

For Services Rendered Through Oct 31, 2003

10/02/03 DIS	Telephone conference with P. Johnson; telephone conference with K. Wilson regarding Thistle contract	.30
10/08/03 DIS	Telephone conference with R. McDonald and follow-up with G. Schaaf regarding Thistle contract	.30
10/09/03 DIS	Memorandum to D. Wolfe regarding Thistle contract	.40
10/10/03 DIS	Facsimiles to C. Jones, Utica regarding Thistle; correspondence to G. Schaaf	.30
10/15/03 DIS	Review Utica's objection to Thistle motion and e-mail inquiry to G. Schaaf	.30
10/16/03 MJA	Review objection to motion to assume Thistle contract; scan and forward to D. Swan	.30
10/20/03 DIS	Review Thistle contract issues and meet with J. Van Horn	.30
10/20/03 DIS	Conference with R. Sable regarding Thistle contract	.20
10/23/03 DIS	Multiple telephone calls with P. Johnson regarding Penske lease and cure amounts due (.5); review letter from J. Townsend of Penske (.1)	.60
10/27/03 DIS	Prepare reply to Utica's response to debtors' motion to assume Thistle contract	1.40
10/28/03 RGS	Prepare for and attend hearing on Thistle	1.50
10/28/03 DIS	Telephone conference with R. McDonald regarding Timet warehouse agreement	.20

Timekeeper	Rate/HR	Hours	Fees
Robert G. Sable	\$410.00	1.5	\$615.00
David I. Swan	\$235.00	4.3	\$1,010.50
Mary Jo Albright	\$105.00	0.3	\$31.50

File Number: 2035688

Invoice No. 90598237

Page 27

November 17, 2003

TOTAL FEES

6.1

\$1,657.00

TOTAL FOR MATTER 2035688-0010

\$1,657.00

Page 17

Invoice No. 90605722

December 11, 2003

Re: Executory Contracts, Personalty Leases and Real Estate Leases Our File No. 2035688-0010

For Services Rendered Through Nov 30, 2003

11/06/03 PLH	Telephone call with R. Sable regarding Inco settlement (.3); review Inco settlement issues (.4)	.70
11/07/03 PLH	Prepare Inco settlement agreement	1.30
11/08/03 PLH	Prepare settlement agreement on Inco; review documents regarding settlement	2.00
11/09/03 PLH	Prepare Inco settlement agreement	2.00
11/10/03 PLH	Prepare motion to approve Inco settlement	1.00
11/12/03 PLH	E-mails regarding issues on Inco settlement (.3); telephone call with R. Sable regarding same (.3)	.60
11/13/03 PLH	Prepare motion to approve Inco settlement (1.5); review revised Inco settlement agreement (.3); e-mails regarding same (.4)	2.20
11/14/03 PLH	Conference call regarding issues on Inco settlement (.5); telephone call with R. Sable regarding same (.3); prepare same (.8)	1.60
11/15/03 PLH	Draft Inco settlement agreement (1.0); draft motion to approve Inco settlement agreement (1.3); e-mails to R. Sable regarding same (.3)	2.60
11/16/03 PLH	Telephone call with R. Sable regarding Inco settlement (.3); prepare Inco settlement agreement (.5); prepare Inco settlement motion (.5); e-mails regarding same (.3)	1.60
11/21/03 PLH	Address issues on Inco settlement (1.0); telephone call with S. Feiner regarding same (.3).	1.30
11/23/03 PLH	Review Inco's revisions to settlement agreement and supply agreement (.3); e-mails to client regarding same (.2)	.50
11/23/03 DIS	Review and update contract list for assumption schedule	.20

' File Number: 2035688 Invoice No. 90605722 Page 18

December 11, 2003

11/24/03 DIS	Revise contracts assumption list and prepare notice	1.50
11/25/03 DIS	Finalize amendment to assumption schedule and arrange for filing	.20
11/26/03 DIS	E-mail correspondence with D. Bias regarding executory contract assumption list and cures (.1); facsimile list to D. Bias (.1)	.20

Timekeeper	Rate/HR	Hours	Fees
Patrick L. Hayden	\$430.00	174.4	\$7,482.00
David I. Swan	\$235.00	2.1	\$493.50
	TOTAL FEES	19.5	\$7,975.50

TOTAL FOR MATTER 2035688-0010

\$7,975.50

Matter 0011	RECLAMATION	NO												
Professional	Ā	August, 2003	60	Ser	September, 2003	003	ŏ	October, 2003	13	No	November, 2003	03	_	Total
	Rate	Hours	Hours Total Fees	Rate	Hours	Hours Total Fees	Rate	Hours	Hours Total Fees	Rate	Hours	Hours Total Fees	Hours	Fees
David I Swan	\$235.00	0.2	\$47.00	\$0.00	0.0	\$0.00	\$235.00	0.2	\$47.00	\$0.00	0.0		0.4	\$94.0
Daniel A Austin	\$225.00	10		\$0.00	0.0	\$0.00	\$0.00	0.0	\$0.00	\$0.00	0.0	\$0.00	1.0	\$225.0
Heather Raionni Hickman	\$110.00	0.5	\$55.00	\$0.00	0.0	\$0.00	\$0.00	0.0	\$0.00	\$0.00	0.0	\$0.00	0.5	\$55.0
and de la company														
Total:		1.7	\$327.00		0	\$0.00		0.2	\$47.00		0.0	\$0.00	1.9	\$374.00

File Number: 2035688

Page 36

<u>Invoice No. 90581165</u> <u>September 16, 2003</u>

Re: Reclamation

Our File No. 2035688-0011

For Services Rendered Through Aug 31, 2003

08/04/03 DIS	Review reclamation issues with D. Austin	.20
08/04/03 DAA	Review status of reclamation claims	.80
08/04/03 DAA	Conference with D. Swan regarding reclamation	.20
08/04/03 HRH	Review and analyze all documentation regarding Hi Temp reclamation claim as per D. Austin's request	.50

Timekeeper	Rate/HR	Hours	Fees
David I. Swan	\$235.00	0.2	\$47.00
Daniel A. Austin	\$225.00	1.0	\$225.00
Heather Rajoppi Hickman	\$110.00	0.5	\$55.00
TOTAL	FEES	1.7	\$327.00

TOTAL FOR MATTER 2035688-0011

\$327.00

File Number: 2035688 Invoice No. 90598237 Page 28

November 17, 2003

Re: Reclamation

Our File No. 2035688-0011

For Services Rendered Through Oct 31, 2003

10/08/03 DIS Telephone conference with J. Noonan of Precision Metal regarding reclamation claims

.20

<u>Timekeeper</u>	Rate/HR	Hours	Fees
David I. Swan	\$235.00	0.2	\$47.00
	TOTAL FEES	0.2	\$47.00

TOTAL FOR MATTER 2035688-0011

\$47.00

Matter 0013	DISCLOSURE STATEMENT AND PLAN OF REORGANIZATION	STATEN	TENT AND PL	AN OF REO	RGANIZAT	NOI								
Professional	A	August, 2003	9	Sel	September, 20	2003	ဝိ	October, 2003	33	Nov	November, 2003	03		Total
	Rate	Hours	Total Fees	Rate	Hours	Total Fees	Rate	Hours	Total Fees	Rate	Hours	Total Fees	Hours	Fees
		_												
Benjamin B. Iselin	\$0.00	0.0	\$0.00	\$0.00	0.0	\$0.00	\$0.00	0.0	\$0.00	\$455.00	19.3	\$8,781.50	19.3	\$8,781.50
Paul F Fisher	\$0.00	0.0	\$0.00	\$0.00	0.0	\$0.00	\$0.00	0.0	\$0.00	\$455.00	1.5	\$682.50	1.5	\$682.50
Patrick L. Hayden	\$430.00	94.9	\$40,807.00	\$430.00	144.6	\$62,178.00	\$430.00	46.3	\$19,909.00	\$430.00	61.3	\$26,359.00		\$149,253.00
Robert G. Sable	\$410.00	28.3	\$11,603.00	\$410.00	62.9	\$25,789.00	\$410.00	46.3	\$18,983.00	\$410.00	42.7	\$17,507.00	¥	\$73,882.00
D. Michael Jones	\$0.00	0.0	\$0.00	\$370.00	0.3	\$111.00	\$0.00	0.0	\$0.00	\$0.00	0.0	\$0.00	0.3	\$111.00
Lucile J. Anutta	\$0.00	0.0	\$0.00	\$370.00	5.6	\$2,072.00	\$0.00	0.0	\$0.00	\$0.00	0.0	\$0.00	5.6	\$2,072.00
Philip C. Spahn	\$0.00	0.0	\$0.00	\$0.00	0.0	\$0.00	\$0.00	0.0	\$0.00	\$330.00	28.0	\$9,240.00	28.0	\$9,240.00
Ronald W. Schuler	\$0.00	0.0	\$0.00	\$315.00	8.4	\$2,646.00	\$315.00	2.1	\$661.50	\$0.00	0.0	\$0.00		\$3,307.50
Stephen C. Matheny	\$0.00	0.0	\$0.00	\$0.00	0.0	\$0.00	\$0.00	0.0	\$0.00	\$285.00	4.8	\$1,368.00		\$1,368.00
Alan K. Sable	\$265.00	1.1	\$291.50	\$265.00	4.6	\$1,219.00	\$265.00	1.9	\$503.50	\$265.00	4.7	\$1,245.50		\$3,259.50
David I. Swan	\$235.00	40.4	\$9,494.00	\$235.00	95.4	\$22,419.00	\$235.00	12.8	\$3,008.00	\$235.00	20.6	\$4,841.00		\$39,762.00
Robert A. Cox. Jr.	\$0.00	0.0	\$0.00	\$230.00	25.6	\$5,888.00	\$0.00	0.0	\$0.00	\$230.00	19.7	\$4,531.00	45.3	\$10,419.00
Sally E. Edison	\$0.00	0.0	\$0.00	\$215.00	5.7	\$1,225.50	\$0.00	0.0	\$0.00	\$0.00	0.0	\$0.00		\$1,225.50
Sarah B. Boehm	\$210.00	0.4	\$84.00	\$0.00	0.0	\$0.00	\$0.00	0.0	\$0.00	\$0.00	0.0	\$0.00		\$84.00
James E. Van Horn	\$170.00	1.9	\$323.00	\$170.00	56.1	\$9,537.00	\$170.00	8.1	\$1,377.00	\$170.00	2.2	\$374.00		\$11,611.00
Melissa A. Posten	\$0.00	0.0	\$0.00	\$0.00	0.0	\$0.00	\$0.00	0.0	\$0.00	\$140.00	0.4	\$56.00	0.4	\$56.00
Martha Lynn Wigton	\$0.00	0.0	\$0.00	\$120.00	3.2	\$384.00	\$120.00	2.7	\$324.00	\$120.00	9.4	\$1,128.00		\$1,836.00
Heather Rajoppi Hickman	\$110.00	0.8	\$88.00	\$110.00	1.9	\$209.00	\$0.00	0.0	\$0.00	\$0.00	0.0	\$0.00		\$297.00
Thomas M. Collins	\$110.00	0.5	\$55.00	\$110.00	12.5	\$1,375.00	\$0.00	0.0	\$0.00	\$0.00	0.0	\$0.00		\$1,430.00
Vicki L. Curfman	\$0.00	0.0	\$0.00	\$0.00	0.0	\$0.00	\$110.00	4.9	\$539.00	\$0.00	0.0	\$0.00		\$539.00
Mary Jo Albright	\$105.00	7.0	\$735.00	\$105.00	6.6	\$1,039.50	\$105.00	1.4	\$147.00	\$0.00	0.0	\$0.00	18.3	\$1,921.50
Total.		1753	175.3 \$63.480.50		436.7	\$136,092,00		126.5	\$45,452.00		214.6	214.6 \$76,113.50	953.1	\$321,138.00
			22.22.600											

Re: Disclosure Statement and Plan of Reorganization Our File No. 2035688-0013

For Services Rendered Through Aug 31, 2003

08/01/03 PLH	Telephone conference with D. Swan regarding revisions to disclosure statement and plan procedures (1.3); telephone conference with R. Sable regarding same (.3); telephone conference with B. Shaw regarding same (.3); prepare revisions to plan and disclosure statement (2.5); telephone conference with U.S. Trustee regarding same (.3)	4.70
08/01/03 RGS	Telephone conference with D. Wanlass regarding PBGC and plan issues (.2); telephone conference with D. Swan regarding plan and ABL (.4); telephone conference with P. Hayden regarding plan and meeting (.2); telephone conference with S. Siegel's office (.1); telephone conference with A. Eckstein regarding plan modifications (.2)	1.10
08/01/03 DIS	Work on second amended disclosure statement and second amended plan (4.5); facsimile modifications to K. Reuter and telephone calls with P. Hayden and R. Sable to discuss (1.0)	5.50
08/03/03 PLH	Telephone conference with D. Swan regarding revisions to plan and disclosure statement (1.0); prepare revisions to plan and disclosure statement (4.0); e-mails regarding same (.4)	5.40
08/03/03 RGS	Telephone conference with D. Swan regarding plan and disclosure statement	.20
08/03/03 DIS	Review and revise second amended plan and disclosure statement	2.20
08/03/03 DIS	Review Donlin Recano voting agent agreement	.20
08/03/03 DIS	Telephone calls with P. Hayden regarding plan and disclosure statement revisions (.9); telephone conference with R. Sable (.2)	1.10

File Number: 2035688 Invoice No. 90581165 Page 38

September 16, 2003

08/04/03 PLH	Conference call regarding status of plan and disclosure statement (.8); telephone conference D. Swan regarding same (.5); prepare revisions to plan and disclosure statement (3.0); telephone conference Donlin Recano regarding solicitation issues (.4); telephone conference R. Sable regarding plan issues (.3); prepare confirmation timeline (1.0)	6.00
08/04/03 RGS	Review second amended disclosure statement (.7); telephone conference with D. Swan regarding open issues (.2); participate in conference call with D. Wanlass, R. McDonald, D. Swan and P. Hayden regarding open issues and confirmation (.6)	1.50
08/04/03 RGS	Telephone conference with P. Hayden (.3); telephone conference with D. Swan (.2); telephone conference with A. Qualls regarding claim issues and other plan and disclosure statement issues (.1)	.60
08/04/03 DIS	Conference call with management and professionals regarding progress with disclosure statement and other matters	.60
08/04/03 DIS	Review revised confirmation timeline and task list	.20
08/04/03 DIS	Telephone conference with S. Moskol and D. Bleck regarding disclosure statement modifications	.20
08/04/03 DIS	Review Donlin proposed voting agent agreement and facsimile to D. Wanlass	.20
08/04/03 DIS	Review voting procedures motion and order, original Donlin retention (.3); telephone conference with P. Hayden (.3)	.60
08/04/03 DIS	Conference call with Donlin Recano regarding plan confirmation, voting procedures and claims procedures	.90
08/04/03 HRH	E-mail amended plan and disclosure statement with all attachments upon attorney's request	.30

File Number: 2035688 Invoice No. 90581165 Page 39 September 16, 2003

08/05/03 PLH Telephone call with S. Siegel and A. Eckstein 6.70 regarding plan and disclosure statement (.3); telephone call with A. Eckstein regarding same (.3); telephone call with R. Sable regarding same (.3); telephone call with D. Swan regarding revisions (.5); telephone call with U.S. Trustee regarding plan (.3); prepare voting procedures order and exhibits (2.0); prepare revisions to plan and disclosure statement (3.0) 08/05/03 RGS 1.90 Telephone conference with D. Wanlass (.3); telephone conference with A. Eckstein (.2); telephone conference with S. Siegel's office (.2); telephone conference with P. Hayden (.6); telephone conference with D. Swan regarding changes to disclosure statement and plan (.6) Numerous telephone calls with P. Hayden (.9) 1.00 08/05/03 DIS and telephone call with R. Sable (.1) regarding disclosure statement 08/05/03 DIS Revise plan and disclosure statement and 1.50 prepare retiree present value claim calculations 08/05/03 HRH Research debtor's amended plan as per .30 attorney's request 08/06/03 PLH Prepare revisions to plan and disclosure 7.40 statement (4.0); prepare voting procedures order and exhibits (1.0) prepare contract order (.4); telephone call with R. Sable regarding same (.4); telephone call with D. Wanlass regarding same (.3); telephone call with D. Swan regarding same (.5); telephone call with A. Eckstein regarding same (.3); e-mails to parties regarding plan and disclosure statement (.5)08/06/03 RGS Telephone conference with P. Hayden (.2); .80 telephone conference with B. Rosenberg (.2); telephone conference with D. Swan (.2); telephone conference with D. Wanlass regarding changes to disclosure statement (.2) 08/06/03 RGS Final review of disclosure statement and .80 transmittal to parties in interest 08/06/03 DIS Telephone conference with D. Wanlass regarding .10 vote requirements

plan

File Number: 2035688
Invoice No. 90581165

Page 40 September 16, 2003

08/06/03 DIS Review Latham & Watkins' comments to disclosure .80 statement and telephone conference with P. Hayden to discuss 08/06/03 DIS Telephone conference with R. McDonald regarding .30 various matters including disclosure statement 08/06/03 DIS Various telephone calls with P. Hayden and 1.90 conference with R. Sable regarding second amended plan and disclosure statement; finalize documents and e-mail to interested parties 08/07/03 PLH Telephone call with R. McDonald regarding DIP .40 agreement and waiver; e-mails regarding same 8.10 08/07/03 PLH Telephone call with PBGC regarding plan and disclosure statement (.4); prepare revisions to plan and disclosure statement (5.0); telephone call with R. Sable regarding same (.4); telephone call with D. Swan regarding same (.5); telephone call with D. Wanlass regarding same (.3); review balloting and solicitation issues (1.5) Final review and changes on disclosure 1.80 08/07/03 RGS statement including conference with D. Swan and P. Hayden (1.5); conference with A. Sable and respond to R. McDonald's exit financing (.3) 08/07/03 DIS Telephone conference with S. Moskol regarding .10 second amended disclosure statement 08/07/03 DIS Review print comparison and forward .30 08/07/03 DIS Telephone conference with P. Hayden regarding .30 PBGC issues with disclosure statement 08/07/03 DIS Two telephone conferences with P. Hayden 1.30 regarding CBA's and other final revisions to second amended disclosure statement 08/07/03 DIS Telephone conference with T. Coldagelli .20 regarding second amended disclosure statement 08/07/03 DIS Two telephone calls with K. Wilson regarding .40 assembly and filing of disclosure statement and